Mega 1.2 ( U 1 , Listen and Discuss )       
A – Choose the correct answer :
1 – He wasn’t injured because he was wearing a …………………………… .
     a – watch                                b- helmet                                  c- ring
2 – The driver was wearing  his …………………………………… when he crashed into the pole  .
     a – seat belts                            b- T-shirt                                c- hat
3 – Approximately, …………………………… million people die each year on the world’s roads    .
     a – 1.33                                     b- 1.53                                      c- 1.35
4 – “ take their eyes off “ means …………………………………… .
     a – don’t listen                          b- don’t drink                             c- don’t look at
5 – …………………… are those who are talking on the cell phone while driving and don’t pay attention to the road  .
        a – Distracted drivers              b- Driver Fatigue                        c- Good drivers
6 – ……………………………… drivers may fall asleep at the wheel or go off the road  .
        a – Funny                                  b- active                                      c- Drowsy and tired
7 – …………………………… drivers ignore the safety of others and take risks    .
        a – Friendly                               b- Aggressive                              c- Quiet
8 – Heavy rain , snowstorm and fog make driving more ……………………………… .
        a – difficult                                 b- easy                                       c- relax
[bookmark: _GoBack]
B- Match the following verbs to their antonyms  :
1 – die                 (          )     increase   
2 – decrease       (          )     pay attention
3 – ignore           (          )     live
4 – turn off        (          )    turn on
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